
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Inboard Pan10-101921

Rear Pan Bracket JD 8RT RH10-1720R12

Rear Pan Bracket JD 8RT LH10-1720L13

Axle Brace JD 8RT RH10-1721R14

Axle Brace JD 8RT LH10-1721L15

Pan Tab10-103286

210gal Yellow TankYCRM 70027

Front Channel JD 8RT10-173218

Front Channel Bracket JD 8RT RH10-1733R19

Front Channel Bracket JD 8RT LH10-1733L110

1

1

2

2

3

3

4

4

A A

B B

Inboard Mount

John Deere

2020 - Current

8RT 310, 8RT 340,

8RT 370, 8RT 410

Bolt List

QTY Description

Placement

6 16 mm x 45 mm Bolts Rear Pan Bracket to Tractor

4

3/4 x 2 1/2  Bolt

Rear Pan Bracket to Rear Axle Brace

16

3/8 x 1 Carriage Bolt Pan Angle to Pan

8

1/2 x 1 1/2  Bolt

Tabs to Brackets

4 20 mm x 110 mm Bolt Front Channel to Trans 

12

3/8 x 1 1/4  Bolt

Pan Channel to Front Channel

8

1/2 in J Bolts Nylon Strap to Pan

6 16 mm Harden Flat Washer

4 20 mm Harden Flat Washer

8

3/4 in Flat Washers

4

3/4 in Lock Washer

4

3/4 in Hex Nuts

8

1/2 in Flat Washer

8

1/2 in Lock Washer

12

1/2 in Hex Nuts

4

1/2 in Lock Hex Nuts

12

3/8 in Flat Washer

28

3/8 in Flange Nuts

4

Nylon Straps

Tank to Pan

*REMOVE JOHN DEERE TIE DOWN CASTING ON THE FRONT SIDE OF TRANSMISSION*

*REPLACE WITH FRONT CHANNEL (#8)*

REAR PAN BRACKET MOUNTING

REAL AXLE

*USE 2ND SET OF HOLES TOWARDS

FRONT OF PAN (#6)*

8

6

9

10

1

61

7

7

5

2

3

2

4

210 ID: JD-8RT-20CU-INB-210S

PRICE LIST: $5016.00

Limitations may apply.  Please consult
API Sales at 800-288-1117.




